~\ .
K&M KONIG & MEYER

N  Stands For Music

18805 Noten- und Konzepthalter

- fir K&M-Keyboardtische:

- 18810 » Omega« (via 18814 Adapter & 18817 Universalhalter)

- 18840 » Baby-Spider«, 18860 » Spider« (via 18873 Universalhalter)

- 18950, 18953 Klapptische (via 18817 Universalhalter direkt

oder 18954 Adapter & 18817 Universalhalter)

- 18930, 18940, 18990, 18995 X-Sténder (via 18944 Universalhalter)
- fiir Individualisten: einstellbar in H6he, Richtung, Abstand und Neigung
- fiir Praktiker: mit geschlossener Stahlplatte > gute Schreibunterlage und magnetisch
- flir Partituren: die Platte ist 296 mm hoch, 30 mm tief und 416 mm breit

Vielen Dank, dass Sie sich fiir dieses Produkt entschieden haben.

Diese Anleitung informiert Sie tber alle wichtigen Schritte bei Aufbau
und Handhabung. Wir empfehlen, sie auch fir den spateren e
Gebrauch aufzubewahren.

SICHERHEITSHINWEISE

- Bitte beachten Sie die Angaben dieser Aufstellanleitung

- Ebenfalls Sicherheitsanweisungen und Aufbauanleitung
der Keyboardstander und evtl. beteiliger Adapter beachten:
- 18810 »Omega« - 18814 Adapter - 18817 Universalhalter
- 18840 »Baby-Spider«, 18860 »Spider« - 18873 Universalhalter
- 18950/53 Klapptische - 18954 Adapter - 18817 Universalhalter
- 18930, 18940, 18990, 18995 X-Sténder - 18944 Universalhalter

- Auf feste Schraubverbindungen der beteiligten Artikel achten

- Vor Nésse schitzen

- Bei Wartungsarbeiten auf evtl. Gefdhrdungen achten

- Beschadigte Teile miissen ersetzt werden

- Zur Reinigung am besten ein leicht feuchtes Tuch und 1. BESTANDTEILE
ein nicht scheuerndes Reinigungsmittel benutzen

Karton / card box: 480 x 320 x 70 mm

A. Schwenkgelenk: a Schwenkgelenk mit Steckplatte, b U-Scheibe 24 mm, ¢ Fligelmutter M8,
AUFBAUANLEITUNG d 2x Gummischeibe @40 mm, e Pilz 3/8", f SchloBschraube M8 x 30 mm,

g Randelschraube M6 x 22 mm
1. BESTANDTEILE B. Notenplatte kpl.: h 2x Hutmutter M5, i 4x U-Scheibe 10 mm, k Prismenhalterung (Steckschuh),
A. Schwenkgelenk: a-g I Notenplatte 296 x 416 mm m 2x SchloBschraube M5 x 15 mm

B. Notenplatte kpl.: h - m

2. ZUSAMMENBAU des 18805 2. ZUSAMMENBAU 3. MONTAGE

2.1 Sicherstellen, dass das Gewinde der
Réndelschraube g nicht herausragt. 0
2.2 Notenplatte B am Gelenk A befestigen.
Dazu die Steckplatte a bis zum Anschlag in
die Prismenhalterung (Steckschuh) k schieben
2.3 Réndelschraube g nun fest anziehen, wodurch die
Notenplatte m sicher fixiert ist. Erst durch Lésen dieser
Schraube kann die Platte wieder abgenommen werden.

10)

18817 /18944
Universalhalter

3. MONTAGE am KEYBOARDSTANDER

Der vorliegende Noten- und Konzepthalter verfligt im

Inneren des Pilzes e Uber ein 3/8"-AnschluBgewinde.
Dies wird auf die Universalhalter 18817, 18873 oder 5. NEIGUNG / TRANSPORTSTELLUNG

18944 geschraubt.

4./5./6./7. EINSTELLUNGEN

Im Zusammenspiel mit den Keyboardstandern und den
jeweiligen Universalhalterungen kann der 18805 in
RICHTUNG, NEIGUNG, HOHE und ABSTAND (nur 18817)
hochst flexibel eingestellt werden.

Vor dem Verstellen der Halterung bzw. beim Transportieren
des Stativs die Traglast bitte von der Platte nehmen.

4. RICHTUNG

4.1 Réndelscheibe l6sen und...
4.2 ...Notenplatte in gewlinschte Richtung drehen;
4.3 Réndelscheibe wieder festziehen

5. NEIGUNG / TRANSPORTSTELLUNG TECHNISCHE DATEN FEHLERSUCHE (F) und BESEITIGUNG (B)
. . F: Installation wackelt
.1 Fl Imutter | . . -
5.1 Flugelmutter Iosen und, _ Rohre, Platte, Gelenkwinkel: Stahl, B: Uberpriifen ob die Teile richtig angeordnet
5.2 ...Notenplatte wie gewlinscht neigen, Iverbeschich h ; ; :
5.3 Fliigelmutter wieder festziehen pulverbeschichtet schwarz . und die Gewinde fest angezogen sind.
’ ’ Material | Schrauben, Scheiben: Stahl verzinkt B: OrdnungsgeméaBen Aufbau der Universalhalter
6. HOHE Pilz, Prismenhalterung: GD-Zink, und Keyboardstative tberpriifen.
) pulverbeschichtet schwarz
siehe Anleitungen 18817, 18873, 18944 Kunststoffteile: PA, PE, schwarz
Universalhalter
MaBe Platte: B x H x T: 416 x 296 x 30 mm
AnschluBgewinde: BSW-3/8" .
7. ABSTAND — 3209 - KONIG & MEYER GmbH & Co. KG
siehe Anleitung 18817 Universalhalter ar <.)n X x/omm Kiesweg 2, 97877 Wertheim, www.k-m.de
Gewicht | 15kg 18805-300-55 Rev.03 03-80-314-00 7/18




18805 Sheet music and concept holder

- for K&M-Keyboard Tables:

- 18810 » Omega« (via 18814 Adapter & 18817 Universal holder)
- 18840 » Baby-Spider«, 18860 » Spider« (via 18873 Universal holder)
- 18950, 18953 Table-style keyboard stands (via 18817 Universal holder direct

or 18954 Adapter & 18817 Universal holder)

- 18930, 18940, 18990, 18995 X-stands (via 18944 Universal holder)

- for individualists: adjustable height, direction and angle

- for the practically inclined: with a closed steel desk > writing surface and magnetic
- for scores: the desk is 296 mm high, 30 mm deep and 416 mm wide

Thank you for choosing this product. The instructions provide
directions to all of the important set up and handling steps. We
recommend you keep these instructions for future reference.

SAFETY NOTES

- Please consider the information provided in the setup instructions
- Please also consider the safety and the assembly instructions
of the keyboard stand and possible adapter:
- 18810 »Omega« - 18814 Adapter - 18817 Universal holder
- 18840 »Baby-Spider«, 18860 »Spider« - 18873 Universal holder
- 18950/53 Table-style keyboard stands - 18954 Adapter
- 18817 Universal holder
- 18930, 18940, 18990, 18995 X-stands - 18944 Universal holder
- Ensure that the screws are tight on all of the involved products
- Protect against moisture
- During maintenance work pay attention to possible hazards
- Damaged parts must be replaced
- To care for the product, use a damp cloth and a non-abrasive
cleaning agent

SETUP INSTRUCTIONS
1. COMPONENTS

A. Swivel joint:a-g
B. Music desk cpl.: h-m

2. ASSEMBLY of 18805

2.1 Ensure that the threaded bolt of the
knurled screw g does not stick out.
2.2 Mount the music desk B to the joint A.
Place the plug-in plate a as far as it will go into
the prismatic holder (slide bracket) k
2.3 Tighten the knurled screw g which results
in the music desk m securely being in position.
The music desk can only be removed if the screw is loosened.

3. MOUNT to the KEYBOARD STAND

This music and concept holder has a
3/8"-connection thread inside the swivel head e.
This is screwed into Universal holders 18817,
18873 or 18944.

4./5./6./7. SETTINGS

In combination with the keyboard stands and with any of the
Universal holders the 18805 can be adjusted in a highly flexible
manner in DIRECTION, INCLINE, HEIGHT and DISTANCE
(18817 only).

Before adjusting the holder or during transport

of the stand, please take the load off the plate.

4. DIRECTION

4.1 Loosen the knurled disc and...

4.2 ...place the music desk in the desired direction;
4.3 Re-tighten the knurled disc

5. ANGLE / TRANSPORT POSITION

5.1 Loosen the wing nut and...
5.2 ...place the music desk at the desired angle,
5.3 Re-tighten the wing nut.

6. HEIGHT

see instructions 18817, 18873, 18944
Universal holder

7. DISTANCE

see instructions 18817 Universal holder

2N\
K&M
\—4

KONIG & MEYER

Stands For Music

( 296

Karton / card box: 480 x 320 x 70 mm

-]
416

1.COM

PONENTS

A. Swivel joint: a Swivel joint with plug-in plate, b washer 824 mm, ¢ wing nut M8,
d 2x rubber washer 640 mm, e swivel head 3/8", f carriage bolt M8 x 30 mm,

g knurled screw M6 x 22 mm

B. Music desk cpl.: h 2x domed cap nut M5, i 4x washer 810 mm, k prismatic holder (slide bracket),
I music desk 296 x 416 mm m 2x carriage bolt M5 x 15 mm

2. ASSEMBLY

3. MOUNT

10)

18817 /18944
Universalhalter

TECHNICAL DATA

Tubes, plate, joint bracket: Steel,
black powder coated

Material Screws, disks: Steel, galvanized
Swivel head, prisma holder:
GD-Zinc, black powder coated
Plastic Parts: PA, PE, black

Dimensions Plate: W x H x D: 416 x 296 x 30 mm
Connection thread: BSW-3/8"

Box 480 x 320 x 70 mm

Weight 1.5kg

FAULT-FINDING (F) and REPAIR (R)

F: Installation is not stable
B: Check to see if the parts are in the right positions
and the screws are properly tightened.
B: Check to see that the Universal holders and
Keyboard stands have been assembled properly.

KONIG & MEYER GmbH & Co. KG
Kiesweg 2, 97877 Wertheim, www.k-m.de
18805-300-55 Rev.03 03-80-314-00 7/18




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /CMYK
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments true
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e9ad88d2891cf76845370524d53705237300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc9ad854c18cea76845370524d5370523786557406300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV (Za stvaranje Adobe PDF dokumenata najpogodnijih za visokokvalitetni ispis prije tiskanja koristite ove postavke.  Stvoreni PDF dokumenti mogu se otvoriti Acrobat i Adobe Reader 5.0 i kasnijim verzijama.)
    /HUN <>
    /ITA <>
    /JPN <FEFF9ad854c18cea306a30d730ea30d730ec30b951fa529b7528002000410064006f0062006500200050004400460020658766f8306e4f5c6210306b4f7f75283057307e305930023053306e8a2d5b9a30674f5c62103055308c305f0020005000440046002030d530a130a430eb306f3001004100630072006f0062006100740020304a30883073002000410064006f00620065002000520065006100640065007200200035002e003000204ee5964d3067958b304f30533068304c3067304d307e305930023053306e8a2d5b9a306b306f30d530a930f330c8306e57cb30818fbc307f304c5fc59808306730593002>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020ace0d488c9c80020c2dcd5d80020c778c1c4c5d00020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken die zijn geoptimaliseerd voor prepress-afdrukken van hoge kwaliteit. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
    /ENU (Use these settings to create Adobe PDF documents best suited for high-quality prepress printing.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /ConvertToCMYK
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentCMYK
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure false
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles false
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /DocumentCMYK
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


